Using the Distributive Principle

The terms x and 3 are not like terms, so we cannot snmphfy 5(x + 3) by addmg the terms in

the parentheses. Instead, we use thé Distributive Principle.

Sk +3) < 5x+53 =Bx 415
S(x =3) = 5% =53 = 5x - I5

Write an equivalent expression using the Distributive Pnnc:ple

<
2(x+6)=2x +|2 _2(?“6): 3(2x+4)
8(x+2)= 8(x-2) = [H(Bba+2)=
6(x +4) = 6(x-H) = “2(3x 1) =
(x +3)4 = (x=3)4 = 6(2%-3) =
(x + 97 = (% - 9)7 = 5(5%-2) =
Blx+l) = (x+1(3)= (3%-10)(-5)=
5(x*+6) = (x*-6)5= (2%x*+1(-3) =
Simplify. | | |

B+3(x+2) x4 (K- 6) 5(2x -3)+14

8 +3x+6 T |
3x +4 |
“2(x+7)+I2 % x+3(x~-4)+2% Bx® + 3(x*-1)

Oa+2(a+9)+25

Sy + (x-4)(-7)

x+2(x+1)+ %2
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